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The figures in the in i{zdicate full marks
for the questions

1. (a) What ar¢ meant by symmetry element
and symuieu-y operation? o
rmine all the Symmetry elements

b D g molecules :

in the followin
(i) PFs
(ii) Cyclohexan®
oulq . you

on
compare 4 for & sample by two
ical methods? The
differen ans’ . for one set of
devlaﬁon .
s.-'=‘0-210 and for
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(2) (3)
8 determinati
: tions b
i . Y an .
dsiff e(r) 441. Is there aI;’theSr. method (c) What are the advantages of using
sets zlflc;; beitWEen the precisit;in ;f;cta\vn X organic prempltantS? 2
su .
‘ degrees of frtS? (F value for 9 and "7) e down the chemical and structural
limi . eedom at 950/ (d) erte 0 .
t is 3-68) o confidence formulae of cupferron. Write one
3 important application of cupferron in
| OR quantitative analysis. 1%
2. @ b
raw th OR .
the dete;g?n:(g;a: dflagram relating to 4 the structure of‘ EDTA-metal
o .
group of molecyles, symmetry point . {a) ?;;wlex- In what manner, the stability
) In terms 2 of EDTA-metal complex varies with
explain the folfl Symmetry operati (i) the chang® of the metal cation, ii) the
i) E oTowing terms ; o 2 pH of the medium?. 3
quivale
) B nt configuration ) do the structure of the
quivalent atoms (b) Write ox containin dimethyl glyox'u.ne
(c Find cqmp 2+ jon and cupferron with
the value of with M =/ 2
° Cu?* ion.
0'028 : ° s :
56x298.15x0.112 . ¢ role of metal ion indicator
0.5785 (c) Discus tric titration reaction. 1%
How many signifi in a complexome
DPresent jn - Icant figure .
3 n the answer ang f”;hould be do you meant by masking agents? 1y
- (@) What is an ad y? 3 @) &al;m h an example. 2
sorpti . .
:f:l1 Cxample Mrtfnt(i)(;1 Indicator? Give sePaI‘aﬁon of isotopes by
ﬁ;:trignon Indicator ::; atf € use of 5. (a) Discuss cemethod.
ns. gentometric electrolytt stes o the following
(b) Write down th 2% (b) Write sho n 1%+1%=3
between T€€ points of gj fissio
... CO-precipitati differences ., gpontaneo®
Precipitation. Pltation ang post- {i) SP ) quﬂibrium
1% (i) Radioa®™™ °
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(4)
¢/ Wh (5)
app?it: :é ‘:mt;acil;s? Mention at least two _
used as tracers. radioactive isotopes {c) Draw a plot of hydration energies of M?*
2 ions of the first-row transition metals
OR and explain the important features )
6. (@) cCal of it.
uclear reaction - of the fouOWing OR
4 . .
13A127+2He4_,143i30+1H1+ 0 8. (@) Account for the fact that [Cr(N2H3)5] .13
Given the : paramagnetic while [Ni(CN),J™" 38 dia- s
masses of ma . ‘
gnetic.
27 _ .
oA = 269815 amu ) Which of the folowing COmPIEEEC S
14Si30 = 29.973 8 higher crystal field Spllttlng energy
amu
(b, i -
{i) Posi g: 1%x2=3 3
"~ Tositron decay (i) [ColNHsls!
(i) Electron capture Give reason for your answer- 2
. for a d* and
(e) Write down Calculate the CFSE value
nucl € Beth (C) Omplex 2
ear reaction, | ccation for a 46 tetrahedral ©
7. (@) Defin 1 ' ot of magneti
e ation agneuc
What lcw stal field stabjlig; 9. (@) Discuss the Vof ferromagnetic and
crystal S € relationshj 'ng energy. susce]?tﬂ?'111 es compounds as a
paitie field stabilising P between anti-ferrorm Crature- a
ow s JETY in determ; energy and function of temp
5 b Spin complexeg? g high or " paramagneﬁc momer:)t of ?
.5 the
oo @ figure to show th ’ () How 1S ' selated t°af$a;u$ee§p§1
Senerate d-orbitals j © splitting of SubSt.and electron® 2-
crystal field. In an octahedral unpaire - moment for [MnCls]
20D ' 2 only’ magn"‘ complexes: 4
/ 138 and [Co 6
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(6)

. OR
10. (@) State Curie law. What s the
significance of Curie point? 1%

() Explain the following : 2
CO* complexes may be paramagnetig
as well ag diamagnetic while Cr
complexes are baramagnetic only.

{¢) Explain Faraday’s  method  of
determining Mmagnetic susceptibility of
compounds. 2

(d) Which among the following complexes
will exhibit the highest Paramagnetic
behaviour and why? 2%
K4[Fe(CN)), K,INi(CN), ], [Ni(CO),] and
K3[MnFg)

[Fe=26, Ni=2g, Mn = 25]
* ok &
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